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A: Choose the best choice either to find an equivalent  for  the underlined part or to fill in the 

blak. 

 

1. After the final demise of the USSR itself, the communist regime in Afghanistan fell in 1992. 

 a. decline  b. last rise  

 c. final replacement  d. last defeat 

2. The supreme leader can master the threat �� ��� �	
�� by the conspiratorial tactics. 

 a. built b. established c. posed d. posited 

3. INF treaty is a recent example of such an arrangement. 

 a. order b. compromise c. agreement d. discipline 

4. United States made a(n) �
�� �
� between the two sides. 

 a. overt war  b. public war 

 c. clear war  d. open war 

5. Because the international situation is in constant flux, the policy process is continuous. 

 a. decline b. change  c. disagreement d. demise 

6. Nonwhites were restricted in the areas in which they could live, and had to carry………….to 

enter white areas. 

a. passbooks  b. warranty   

 c. contract  d. ticket 

7.  In 1967, Israel was aware of ������ ����  attack by Egypt. 

a. close b. immediate c. near d. impending 

8.  Israelis did finally ���� ��� the attacks. 

a. stop b. cleare c. repulse d. remove 
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9. "Nuclear Arms Non-prolieration Treaty" is…………………..  . 

  ��� .����  !" ��# ��$	%&  

' . !" �
& ������� ���� (	$  

) .*+,$ (	-.�	&/0 1��2�� 3�� ��$	%& (�  

� . !" 4�+,5 �
& ��$	%& *+,$ (	$ (�  

10. The treaty was a balanced reduction of standing forces under arms in Europe. 

 a. ready b. active c. constant d. waiting 

11.  Responsibility for directing the policies of a country lies in the hands of ����   politicians. 

 a. professional b. senior c. excellent d. high-class 

12. Conflicts between Christian  	$ *���  are the entire basis for political alignment. 

 a. parties b. factors c. sects d. groups 

13. Most theorists in the 2
nd

 World War supported strategic bombing offensive on the grounds. 

a. bombing campaigns  b. bombing planes 

c. bombing forces  d. bombing disasters 

14.  They granted unlimited inspection powers to the Authority to safeguard against violations. 

 a. close off b. give up c. keep out d. watch 

15. Certain �&�6 (	$ 78��� may find that some laws operate to their disadvantage. 

 a. ethical groups  b. ethnic minorities  

 c. racial groups  d. ethics minorities 

16.  To pay lip service to" means,………………  . 

��� .���� 9��+��  ' .���� ���� �	:+;�  ) .���� �8
��    �. �< �=��� ���  

17. In "inherent invincibility", invincibility" means …………………  . 

���. 7,>� ���6 ��?=	;    '. 7,>�    

). ��	:+& �5�

�    �. �	�%+"� ����/  
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18. Coalitions are essential if the  (	-;	&�0 of either party are to be realized. 

 a. wishes  b. desires   

 c. ideals  d. aspirations 

19. The Franco-Prussian war was an unusual counter-example. 

���.@�	; *;��;  '.*6	.& *;��;  ) .AB	C+& *;��;  � ./�	6 *;��;  

20. The fact that the cold war ended essentially by an accident is fitting. 

 a. well-expressed  b. well- planned 

 c. well-replaced  d. well-sized 

21. Gandhi was dissatisfied with the English term " �C
& 7&B	:&" . 

 a. passive resistance  b. passive campaign 

 c. negative campaign  d. negative resistance 

22. America should seek to contain communism within its territorial boundaries. 

 a. restrict  b. involve 

 c. control  d. impose 

23.  The powers which it exercises are not delegated to it by some other authority. 

 a. granted b. frozen c. discharged d. developed   

24. �	8�� D�
&   is, ………………..  . 

 a. the public house  b. the upper house   

 c. the privy council   d. the federal constitution 

25. " A viable democratic society " is,………………….  . 

 a. dependent  b. practical 

 c. liberal  d. developed 

26. They do not infringe the equal right of every other individual. 

���.��� EF	�   ' .���� �	��  ). ���� �8�	�  � .���� @:;  

27.  The Gaullists are still lukewarm towards France's membership. 

 a. hopeful  b. disappointed  

 c. displeased  d. enthusiastic 
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28. It involved an international embargo on all trade with Iraq. 

 a. business b. deal c. sanction d. sanctuary 

29.  A consensus among the major parties managed to strangle the racist movements. 

 a. involve b. restrict c. break out d. hold out 

30.  It involved an undue interference. 

 a. indirect b. overt c. public d. unfitted 

 

 

B: Translate the following texts into Persian. 

 

1. The major provisions of the treaty include (1) the prohibition of all military activity on the 

Antarctic continent, with each signatory accorded the right to aerial surveillance; (2) the 

prohibition of nuclear explosions or the dumping  of radioactive wastes on the continent; (3) the 

right to inspect each other's installations to safeguard against violations; (4) the nonrecognition of 

existing territorial claims and agreement that no new claims may be made.( 1.5 point) 

 

2. The behavior of people using non-violent action who neither initiate, nor retaliate with 

violence. Such behaviour may derive from adherence to the general principle of abstention from 

violence, or indeed from the closely-related principle of pacifism, but it dose not always do so.  

( 1 point) 

 

3. In practice there are no pure examples either of colonialism, or of this non-exploitive version 

of imperialism. Colonial government has often been justified, sincerely or otherwise, as an 

attempt to spread "civilization" to socially underdeveloped societies, and few empires have not 

rested, fundamentally on the economic advantage to producers and merchants in the imperial 

center of captive markets and resources on the periphery. ( 1 point) 
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4.  An attitude or policy of independence and nonalignment in the East-West power struggle. 

Neutralism describes the political position of states that have decided not to support either the 

U.S or the Soviet Union, and hence not to be included in either the Eastern or Western bloc. 

Neutralism implies determination to maintain freedom to maneuver according to the dictates of 

national interest and, therefore, should not be considered a new phenomenon in international 

politics. ( 1.5 point) 

 

 

 

 

 

 

 

 

 

 

 

www.HDaneshjoo.ir
 hdaneshjoo.irبروزترین سایت نمونه سوالات پیام نور کارشناسی و کارشناسی ارشد همیار دانشجو  

 

 

 

 

 

 

 برای دانلود پاسخنامه سوالات به سایت همیار دانشجو مراجعه کنیذ

 

 

http://hdaneshjoo.ir/

